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Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



U T D1 Yg R i 748 gU vl & IR dife-

g o1 YR Sitg= 8. 531 e R Tt @t <oR @Sl et 8 1 3@t sremfal HHR 3R Tae &1
& dft gfare gt & 919 gt ol 81 32 3 &t ot oft 32 9 Gﬂaqmmaﬁqfﬁ Fgfe
3 B, SEIY 5. ST 5| Aifed B &1 giY . 3ufay JaiY 5. g § SR Tuigrsl 9 witd g1 siiaq
QRHTHT Bl 39 BT &l oldlecg %‘mﬂé"r’.aﬁmw:ﬁ. dfch Oifec dl 5971 & 9193 mdtﬁ:&s 8. 3O®
[¢T0 1A € 7Y 3eR-3eR 5 Jo ol Hobdl| <t Siiad &1 36=9 Bl 34 ¢ | B Sligud=d g Bl
o § Yl ¢ | sl 1 o Ye-5o0 | firaar ¢, (59 &1 1R- gRkar 1, ol &1 98 Ye-sa 1 i 6,
[l &1 HR-0¥ ORaR o, fordl & aa-als Yo 1, farsll &1 Uyd H| dide Sifed &1 38 59 e 9
9131 U9 U 3. SHPT SR G SR I & IRAd 1 T 3 Gk R 9 & fiyern & 3=
TS B XIML. T8 HHE Id BA1 Hiied BT 3620 o | Uyd a1 41 & g o e f5dl giell g
ST 2ot off €1 Tt 2. v off €1 Il B, R GRSl 3ATE WK §iT 6. 98 IS §. AR B

Sub questions

Question Number : 1 Question Id : 6863403234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863403234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863403236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sgad YHe o1 99 By

e T 3fHe

R AR 3G

e 3R wifa

4. Si1a- BT 352 3G

Options :

—

| ]

L]



68634012809. 1
68634012810. 2
68634012811. 3
68634012812. 4
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{-i& 1 gaiTar= 1 gIl-
1. D

2. 34
3. 8%

4. 3fHd

Options :

68634012817. 1
68634012818. 2
68634012819. 3
68634012820. 4

Sub-Section Number : 2
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Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1



ATJUIBUS U TH HA T30 A H e Twd 81 381 20 BTt g o [P SR GOH a8 A
m@gﬁm AT P AN B P 20 [T H QU A @ A 3rebe 39 R B B foa T H
Pl 82

1. 60

[
n
=Y

(5]
L]
=

4. 40

Options :

68634012857. 1
68634012858. 2
68634012859. 3
68634012860. 4
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Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 6863403249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Question Number : 17 Question Id : 6863403250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863403250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1



For the following circuit diagram (Non-inverting OP-AMP). output voltage is:
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The phase-shift oscillator consits of:

1. Two stages of RC circuit

[ )

. One stage of LC circuit
3. Three stages of RC circuit
4. Four stage of RC circuit

Options :
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Question Number : 27 Question Id : 6863403260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Negative feedback mn amplifier leads to:

1. Decrease in band width.

(B

. Decrease in harmonie distortion
3. Increase in noise

4. Increase in harmonic distortion

Options :
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Monolithic circuit (Integrated circuits ICs) are classified as medium scale integration (MSI) Circuits when
number of logic gates :

L10°N <10°
10<N <100
100 < N £100,000

4N >10°

Options :
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Question Number : 30 Question Id : 6863403263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
An ideal operational amplifier (OP-amp) would not exhibit the following electrical characterstics-
L. Infinite Input Resistance
2. Infinite Voltage Gain

3. Infinite output Resistance

4, Infinite Band width

Options :
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Question Number : 31 Question Id : 6863403264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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The power gain of an amplifier is 'X' and its voltage gain is 'Y" then its current gain will be:
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Correct Marks : 4 Wrong Marks : 1
NPN Transistor with normal bias:

1. Emitter junction is reverse biased

b2

. Emitter junction is forward biased and collector junction is reverse biased
3. Both emitter and collector junction are forward biased.
4. Both emitter and collector junction are reverse biased

Options :
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Given below are two statements: One 1s labelled as Assertion (A) and the other 1s labelled as Reason (R)
Assertion (A) : The output of ideal op-amyp can drive an infinite number of other devices.
Reason (R) : An ideal op-amp exhibits infinite output resistance.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
3. (A) 1s correct but (R) 1z not correct

4. (A) 1s not correct but (R) 1s correct
Options :
68634012929. 1
68634012930. 2

68634012931. 3
68634012932. 4
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A) : Open loop op-amp configurations are not used in linear application.

Reason (R) : Output of op-amp is either at positive or negative saturation levels when operated in open-loop
configuration.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct

4. (A) 1s not correct but (R) 1s correct

Options :
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Question Number : 35 Question Id : 6863403268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following fabrication steps of MOSFET staring from initial level:

A Metal Deposition
B. Wafer Cleaning
C. Oxidation

D. Doping

Choose the correct answer trom the options given below:
LAB,CD
2B, €, DA
3.D,B,A,C

4.B.D.C.A

Options :
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Question Number : 36 Question Id : 6863403269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I : Diffusion potential across p-n junction increases with increase in doping concentration.
Statement II : Contact potential of p-» junction can be measured by voltmeter.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :

68634012941. 1
68634012942. 2
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68634012944. 4
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Question Number : 37 Question Id : 6863403270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Collector current of BIT increases with increase in temperature.

Statement IT : Minority charge carriers in collector-base junction increase with increase in temperature.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement [ is false but Statement II is true

Options :
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Question Number : 38 Question Id : 6863403271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consequences of base-width modulation are:

A. a and p increase

B. Recombination current increases
C. Collector current increases

D. Collector current decreases

Choose the correct answer from the options given below:
1. B and D only
2. Aand C only
3. Aonly
4. D only
Options :
68634012949. 1
68634012950. 2

68634012951. 3
68634012952. 4

Question Number : 38 Question Id : 6863403271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHTUR-ISTS AT P IRUTH S -
A 3R p ﬁg@
B. U: T oRI H 9fg
C. TR yRTH 9fg
D. TUTE! ¥RT H fiR1ge
Choose the correct answer from the options given below:
1.%dd B 3R D
2. HAAA IR C
3. a0 A
4.9 D

Options :



68634012949. 1
68634012950. 2
68634012951. 3
68634012952. 4

Question Number : 39 Question Id : 6863403272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Transistor action in BJT represents :

A. Efficient flow of charge carriers from emitter to collector.

B. High input resistance between emitter and base junction.

C. Low input resistance between emitter and base junction.

D. Emitter-base junction be forward biased & collector-base junction be reverse biased.

Choose the correct answer from the options given below:

1. B only

[ ]

. C.D only
3. Aand D only
4. B and D only
Options :
68634012953. 1
68634012954. 2

68634012955. 3
68634012956. 4

Question Number : 39 Question Id : 6863403272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIT H giforeex oo e=iidi g -

A. 3T dled] BT JcHod I TUTE! dP G& Halg

B. SOd ¥ MUR I & g9 3= o uferiy

C. TUTET 3R nyR 9iY & &= g Haw ey

D. Scooid-314R I, 3 e aaw § SR Iumel-3uR I, gy R auu © |

e fau e fawedi & 3 Hel SR &1 90 Difed
1. $dd B
2.%dd C.D
3.%ad A 3R D
4.%ad B AR D




Options :

68634012953. 1
68634012954. 2
68634012955. 3
68634012956. 4

Question Number : 40 Question Id : 6863403273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
(Symbol) (Device)
Ly
A o o I |Light Emitting Diode
|~
A
B. e \/ o II. [Photodiode
g
c. O :} Q | IIL |Zener diode
7
D. O D‘/- O | IV [Rectifier diode

Choose the correct answer from the options given below:

1. A-I. B-II, C-IV, D-III

2

AT, B-1, C-II. D-IV

CA-ILL B-LL C-IV, D-III

[F5]

4, A-L. B-III, C-IV, D-II

Options :

68634012957. 1
68634012958. 2
68634012959. 3
68634012960. 4

Question Number : 40 Question Id : 6863403273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

LISTI LISTII
ke =
4
Al > o |! UHTL Jooid SIS
B o :;’/ o | Biel SAS
C. o :} O | [zms
D o D)l/ o |w[REew
fFafaRad fadedl & 9§ gl 3R &1 99+ Difult

1. A-I, B-IL. C-IV, D-III
2. A-IILL B-1. C-I1. D-IV
3. A-IL B-I1. C-IV. D-III
4. A-I. B-ITI. C-IV. D-II

Options :

68634012957. 1

68634012958. 2

68634012959. 3
68634012960. 4

Question Number : 41 Question Id : 6863403274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The voltage gain loaded diff OMP-AMP is:

1. Larger than the unloaded voltage gain.

[

. Equal to the unloaded voltage gain.

L]

. Smaller than the unloaded voltage gain.
4. Impossible to determine

Options :

68634012961. 1
68634012962. 2
68634012963. 3
68634012964. 4



Question Number : 41 Question Id : 6863403274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
% YIRT aHd OMP-Hasi® & diecdl dlsl © -
1. SHIRT diecdr A ¥ 311 §
 SYTRT dieed afed & RER §
TR dleea dfer 9 BIET 8

HIYAT 943 T8l &

[

L]

=S

Options :

68634012961. 1
68634012962. 2
68634012963. 3
68634012964. 4

Question Number : 42 Question Id : 6863403275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Logic circuit that produces high output whenever the two inputs are at opposite levels 1s:

1. OR Gate
2. AND Gate
3. NOT Gate
4, Ex-OR Gate

Options :

68634012965. 1

68634012966. 2

68634012967. 3
68634012968. 4

Question Number : 42 Question Id : 6863403275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U do IRy, i S Ffamer ardie e Wi s el ffam TR s Fau Ruoid € | ag ad uuy g
1. ORI

.AND TI@

NOTTIE

| )

L

4. Ex-OR 7T

Options :

68634012965. 1
68634012966. 2
68634012967. 3
68634012968. 4

Question Number : 43 Question Id : 6863403276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

To form OR. Gate from NOR gate number of NOR Gates required are:

1. One

| )

. Two
3. Three

4, Four

Options :

68634012969. 1
68634012970. 2
68634012971. 3
68634012972. 4

Question Number : 43 Question Id : 6863403276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NOR 71¢ T OR TI¢ g4 & e1U 3TaRgd® NOR TIE @i 41 fda1 sl 2
1. TP

2.2l
3.4
4. 9R

Options :
68634012969. 1



68634012970. 2
68634012971. 3
68634012972. 4

Question Number : 44 Question Id : 6863403277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full Adder has three inputs A. B and Cin. and two outputs Sum (S) and carry (Cout). The expression for Sum
(S) 1s given by:

Where +, . & @ represents OR.AND, and Ex-OR operations, respectively.
LS=A+B+C,
:S=A®(BOC, )
K= ABEEC, S AC

Options :

68634012973. 1
68634012974. 2
68634012975. 3
68634012976. 4

Question Number : 44 Question Id : 6863403277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qnf?ﬂaa%%fﬂqﬁa%x B 3R Gy AT &l (918 THAN (S) 3R B (Cout) BId 5 THAN (S) BT alivd
fearmare :

L.S=A+B+C,,
28=A-B-C,
3.S=A®(B@C,)
48=A-B+B-C_ +A.C,_

Options :

68634012973. 1

68634012974 2

68634012975. 3
68634012976. 4

Question Number : 45 Question Id : 6863403278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Which of the following is a Universal logic gate?

1. NOT Gate

[

. NOE. Gate
3. Ex-OR Gate

4, OR Gate

Options :

68634012977. 1
68634012978. 2
68634012979. 3
68634012980. 4

Question Number : 45 Question Id : 6863403278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FaffT I s IdEE db e s 2
1.NOT Tl
2. NOR Tl

3. Ex-OR 7T

4. ORTIE

Options :

68634012977. 1
68634012978. 2
68634012979. 3
68634012980. 4

Question Number : 46 Question Id : 6863403279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Clocked J-K Flip-Flop (FF) is said to be in toggle mode of operation if:
(PGT = Positive Going Transition)

1. Both J =K = 0. FF will toggle for each PGT of the clock

| )

. Both J=K = 1. FF will toggle for each PGT of the clock
3. Both J=1, K =0, FF will toggle for each PGT of the clock

4. Both J=0, K = 1. FF will toggle for each PGT of the clock



Options :

68634012981. 1
68634012982. 2
68634012983. 3
68634012984. 4

Question Number : 46 Question Id : 6863403279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HICES (TeY-Ta T &1 CTd [9UT H HEIeH S Hedldl § 91 (PGT= 9Tdd ol SshH0N);
1.3FI I=K = 0. FF &I & & olel & [0 eHTd UM

GFl =K = 1. FF ®Id & 8 PGT & flU THTel Sl

GHIT=1,K =0, FF ®Id & g2 PGT & 1T S1Td BT

4.l I=0.K = 1. FF ®Id & 8 PGT & o1 ST ST

| )

[#5]

Options :

68634012981. 1
68634012982. 2
68634012983. 3
68634012984. 4

Question Number : 47 Question Id : 6863403280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The simplified expression for Y = ABD+ABD s

1,}; — l
2.y=AB
j.y:(}
4y=D
Options :

68634012985. 1
68634012986. 2
68634012987. 3
68634012988. 4

Question Number : 47 Question Id : 6863403280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y=ABD+ABD & iU Raawis o -
1._]} o l

AB

1. .l.-'

S.y:{)
4.}1:

wl

Options :

68634012985. 1
68634012986. 2
68634012987. 3
68634012988. 4

Question Number : 48 Question Id : 6863403281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One 1s labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A) : The current through an open device 1s zero.

Reason (R) : Open device has infinite resistance.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

3. (A) 1s correct but (R) 1s not correct

4. (A) 1s not correct but (R) is correct

Options :

68634012989. 1
68634012990. 2
68634012991. 3
68634012992. 4

Question Number : 48 Question Id : 6863403281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 3 FU T : TP @ YT (A) T E9 1 [IRET § T g8 395 HRU(R) & 0 :
YT (A) : TP Teil I T ToRA arel! fayauRT I et § |

PR (R) - Gl G BT IR ST BT S |

SWRIgd HUF & e H, = U 7T fasedl & I 9g1 IR &1 981 DI -
ASRRIF TTE IR R AP T T ©

A SRR M 9 § A1 R. A P U6l AR 781 &

—

[ 2]

ATIE. AT R ET T

AT APIR TR

L]

e

Options :

68634012989. 1
68634012990. 2
68634012991. 3
68634012992. 4

Question Number : 49 Question Id : 6863403282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The specifications of DAC (Digital to analog) 1s / are:
A. Resolution
B. Linearity
C. Accuracy
D. All of these

Choose the correct answer from the options given below:

1.Aand B

| )

C
3.Cand A
4.D

Options :

68634012993. 1
68634012994, 2
68634012995. 3
68634012996. 4

Question Number : 49 Question Id : 6863403282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DAC (3@ ¥ 3F1) F aFEw 8 -
A, fagieH
B. X@war
. g
D. IWRIad Tt

fra feu e faared] © O 981 3T &1 904 Difor

1. A3IRB
o
3.C3RA
4.D

Options :

68634012993. 1

68634012994, 2

68634012995. 3
68634012996. 4

Question Number : 50 Question Id : 6863403283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LIST II
A INAND and NOR I. |Frequency Division
B. |[Counter II. [Universal Gate
C. PMuluplexer II1. JAddressing in memory chips
D. [Decoder IV |Universal circuit

Choose the correct answer from the options given below:

1. A-IL. B-III. C-IV, D-I

| E)

. A-L B-II, C-III. D-IV
3. A-IL B-1, C-IV, D-III
4. A-IV. B-1. C-III, D-II

Options :

68634012997. 1
68634012998. 2
68634012999. 3
68634013000. 4



Question Number : 50 Question Id : 6863403283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey

T T TqE I
NAND HR NOR [ L [araft faureH
TUE @6y | 11 [GES e
dEdddd 111 |t #8R) fag | gantiireq
CEAEEE V. [OdiE® uiay

Ffafad Aol & T U8 STk &1 994 SV -

1. A-IL. B-III. C-IV. D-I

ofofw]>

|

. A-L B-IIL C-III. D-IV
3. A-IT, B-I. C-IV. D-III
4. A-IV. B-1. C-III. D-II

Options :

68634012997. 1

68634012998. 2

68634012999. 3
68634013000. 4

Question Number : 51 Question Id : 6863403284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Superposition theorem is applicable to non-linear networks and systems.

Statement II : Norton's theorem states that a complex network connected to a load can be replaced with an
equivalent impedance connected in parallel with a current source.

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :
68634013001. 1
68634013002. 2



68634013003. 3
68634013004. 4

Question Number : 51 Question Id : 6863403284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFagisyfRRume -

HYF 1 : HARIIY YHY, 3REF uRkay 3R Fem @ § arsare |
FYTO AT FHa & . U% i g9y, S U YR (@1s) § Haifrd 5. B U qed Wiaar (o
U YRT 4Id § FHIR HH 7 581 8) I WiIitd SR AP ¢ |

SRIGd BY & il 1, 1 U U fasedl & 9 9a9 ugdd 3R &1 99+ SIful:

1. YT IR YT GH 9 &

[

YT AR BYT I ST S &

Y1 9d §. e HYF 11 39 B

[¥5]

4 PYTI AT . AfPIPYI I II S

Options :

68634013001. 1
68634013002. 2
68634013003. 3
68634013004. 4

Question Number : 52 Question Id : 6863403285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The correct statements given below are:
A. Logic gates has no storage capabilities.
B. Flip-Flop possess memory.
C. Flip-Flop can have only one input.

D. Flip-Flop has two allowed operating states.
E. Flip-Flop 1s also called Multiplexer.

Choose the correct answer from the options given below:
1. A and E only
2. Aand B only
3. A BandD only

4. A.B and E only

Options :
68634013005. 1



68634013006. 2
68634013007. 3
68634013008. 4

Question Number : 52 Question Id : 6863403285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{3 fau e syl 1 @ HEl duA g
A. T Te H THRUT &HdT el gidl
B. fGag.wara & 708 (wfe) St ©
c. ThaU-Ti1T &1 $ad U Fow el gohdl g |
D. TURTU- Wil 1 &1 SHd Wi SfawiTd &
E. TiRiy-wi1g &1 dgddbde W Ped &

o fau U faeedl © O T8l 3T &1 904 Hiferd
1. BId A IRE
2. HaT AR B
3. HATA.BARD

4. AT A. B ARE

Options :

68634013005. 1
68634013006. 2
68634013007. 3
68634013008. 4

Question Number : 53 Question Id : 6863403286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I LIST IT
AlX+X= L [0

B_IX + X = i

o X

D [X+ Xy - v, [X

Where X is a Variable.
Choose the correct answer trom the options given below:
1. A-II, B-III, C-IV, D-I
2. A-IIL, B-II, C-I. D-IV
3. A-IV, B-III. C-II, D-I
4. AL, B-III, C-I. D-IV
Options :
68634013009. 1
68634013010. 2

68634013011. 3
68634013012. 4

Question Number : 53 Question Id : 6863403286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 1 1 g 1 ¥ FaH SIeEEl X TP R o)
T T Tt I

ANXiX= L0

B.[X+X = |1

C .y = 11 [X

D [X+ XY - v, [X

faferiRad f[amedl § U T8l 3R &1 99 Hif ;

1. A-I1. B-ITI, C-IV. D-1
2. AL B-11L C-1. D-IV
3. A-IV. B-II1. C-I1. D-1
4. A-11. B-T11, C-1. D-IV

Options :

68634013009. 1

68634013010. 2

68634013011. 3
68634013012. 4



Question Number : 54 Question Id : 6863403287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Astable multi-vibrator generates square waves.

Statement IT : In multi-vibrator, feedback is very small. as a result transistor is always driven between cut-oft
and saturation stage.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :

68634013013. 1
68634013014. 2
68634013015. 3
68634013016. 4

Question Number : 54 Question Id : 6863403287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%ﬁﬁwﬁqﬁq%

HYT1: TP RIS 5107 aF a0 I Il ¢ |

HYF 11 : TgH = § RO o4 7Y B1aT1 3 forg HRT S giforex g9 side 3R Figdl sawiisl & dg
aRAfa 8T g |

SWIad HY- & 3f1clld H, -1 AU Ty fasedl § 3 a8 Sugad 3R &l 99 DI

. PYTI AR PYI IS G &

> HYFI IR DU H] ST &
3. YT I8, Al PUT 11 38T ©

4. YT T E, AP FYH NI T T

Options :

68634013013. 1
68634013014. 2
68634013015. 3



68634013016. 4

Question Number : 55 Question Id : 6863403288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Vector field A is irrotational if:

LVxA=0

Options :

68634013017. 1
68634013018. 2
68634013019. 3
68634013020. 4

Question Number : 55 Question Id : 6863403288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tfaw & A srpifSaf .

<l <l
> >
o
o =

Options :

68634013017. 1
68634013018. 2
68634013019. 3
68634013020. 4

Question Number : 56 Question Id : 6863403289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If vector A is magnetic vector potential. then the value of V(V x A)is:

14
1

[ ]

3.0
4. A

Options :

68634013021. 1
68634013022. 2
68634013023. 3
68634013024. 4

Question Number : 56 Question Id : 6863403289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe 9w A W dgenaem @ e d@ v (VxA) FITHE

LA
1

[ ]

3.0
4. A

Options :

68634013021. 1
68634013022. 2
68634013023. 3
68634013024. 4

Question Number : 57 Question Id : 6863403290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a region there is Zero volume charge density but there are non zero line charge (1) and surface charge

deurity (o), then which of the following is valid in that region?

LV*V=¢
2' VJV=)»+J
3VV=0

4VV=0c A



Options :

68634013025. 1
68634013026. 2
68634013027. 3
68634013028. 4

Question Number : 57 Question Id : 6863403290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U & H a9 97 Y § TR 981 IR S X9 1aw () ofR g9 3w 9d (o) ©. 59
&3 & forg, Fefied d S s o § 2 "

LV?V=0
VV=l+co
3.VAV=0

4VV=0 A

| )

Options :

68634013025. 1
68634013026. 2
68634013027. 3
68634013028. 4

Question Number : 58 Question Id : 6863403291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a scaler function @')( o J) = _:{j e y: then value of I grad gﬂ' at (4.-3) 1s:

L7

4

| B

Taa
L

4. 10

Options :

68634013029. 1
68634013030. 2
68634013031. 3
68634013032. 4

Question Number : 58 Question Id : 6863403291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afz te IR Be A(x, y) =x" -y’ 2 d |grad ¢| DTHM (4.-3) TR, FIENT 2

L7

2.4

4. 10
Options :
68634013029. 1
68634013030. 2

68634013031. 3
68634013032. 4

Question Number : 59 Question Id : 6863403292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of electric field vector F and magnetic field vector H has the dimensions of:

1. Inductance
2. Resistance
3. Capacitance
4. Product of resistance and capacitance

Options :

68634013033. 1

68634013034. 2

68634013035. 3
68634013036. 4

Question Number : 59 Question Id : 6863403292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fiqgq &7 9iew E iR graata 47 wiex H & sigura a7t v frw i e & 2
1. URehed &1
2. UfcRIey Bt
3. Y1 Bl
4. WGRIY 3R TR & TUHB B

Options :



68634013033. 1
68634013034. 2
68634013035. 3
68634013036. 4

Question Number : 60 Question Id : 6863403293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A charge q 13 uniformly distributed in a spherical volume of radis R. The graph which represents the variation

of electric field E as the field point 1s moved away from the centre 1s:

!

i\

_m—}x

-

o—_

—>
r=R ,
N
E
4.
I
1
I
e
J“_R P—_—
Options :

68634013037. 1
68634013038. 2
68634013039. 3
68634013040. 4

Question Number : 60 Question Id : 6863403293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U@ 31T q . T e g o] B R 8. F 9H U 3 fqaika g S o, S faggq a7 E 0
afac &1 g21ia § oie & fig F% ¥ 3R 91l &, BT gL

b\
|
E

_ —

-

m—

—>
r=R ,—
M
E
4.
I
|
I
>
r=R po—
Options :

68634013037. 1
68634013038. 2
68634013039. 3
68634013040. 4

Question Number : 61 Question Id : 6863403294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In case of reflection and refraction of light at the dielectric interface:
1. Tangential component of D and normal components of B are continuous.
2. Normal component of D and B are continuous
3. Normal components of D and tangential components of B are continuous.

4. Tangential components of D and B are continuous.

Options :

68634013041. 1
68634013042. 2
68634013043. 3
68634013044. 4

Question Number : 61 Question Id : 6863403294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TRIGgHd & Siax1 gHTg IR YT & WRIaa- SR 3uaa 3 -
1. D& Wi ¥@u ves 3R B & 90 Ued dad ©

2. D 3R B W Uedh Idd o
3. DH A YTH AR B & Wy Iy ued Sad g |
4. D3R B WY@y ues daa @

Options :

68634013041. 1
68634013042. 2
68634013043. 3
68634013044. 4

Question Number : 62 Question Id : 6863403295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One 1s labelled as Assertion (A) and the other 1s labelled as Reason (R)

Assertion (A) : The potential in a volume (v) is unigely determined if (1) the charge density through out the
region and (i1) the value of potential on all boundaries are specified.

Reason (R) : The solution of Laplace's equation in some volume (v) is uniquely determined if potential 1s
specified on the boundary surface.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

3. (A) 18 correct but (R) 1s not correct

4. (A) is not correct but (R) is correct

Options :

68634013045. 1
68634013046. 2
68634013047. 3
68634013048. 4

Question Number : 62 Question Id : 6863403295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ g P2 © : U Sy (A) & &9 4 [T § ol g8 395 BRU(R) & =0 4 :

SHTUTUT (A) : UD A () T (94T U A7 alich I TIUT @Il © : Ale (i) G2 & T a2 99 SR (i)
it afedtaret o= fgya w1 o= fafAfew f |

BRYT(R) : TP G () H IR FHIHR01 1 56 U HTF d<ids 9 AT ST § I GREHT IR 98 0
fgya fafEE sl |

IR HYH & 3Taied H, (- fSu U f[dhedi § I Tg1 IR &1 99 1ol -
1. A SRR I T 8 IR R, A D TSI ARS &
A 3R R I TA ¢ Afh R. A Pl el AR Tl &

ATde. AfPTR 3TA T

b2

Laa

4 AT AfPTRITT

Options :
68634013045. 1
68634013046. 2



68634013047. 3
68634013048. 4

Question Number : 63 Question Id : 6863403296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following electromagnetic radiation in increasing order of their energies:

A X-rays

B. Gamma rays
C. Micro waves
D. UV rays

E. visible rays

Choose the correct answer from the options given below:

1.A,€.B.D,E
2.AB.D.C.E
3 CEDBA
4. E.A.B.C,D

Options :

68634013049. 1

68634013050. 2

68634013051. 3
68634013052. 4

Question Number : 63 Question Id : 6863403296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ g 713 faggd grae i fafbull &1 39! 39 & RIG (d@6d gU) PH I aied HIfu:

A X-Tdeuf
B. 791 fb=uf
C. g&H
D. UV &t
E. 5=Y faauf

- fau 7T fomedl © 4 T8l 3R &1 99 Bl

1A BIBE

[ 2]

.A.B.D,C,E

3 CEDBA

4 E.AB.C,D



Options :

68634013049. 1
68634013050. 2
68634013051. 3
68634013052. 4

Question Number : 64 Question Id : 6863403297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Ampere law is valid only in the case of steady current.

Statement IT : If we take source or sink of current under consideration. the situation refers to the steady
current.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement I are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT is true

Options :

68634013053. 1
68634013054. 2
68634013055. 3
68634013056. 4

Question Number : 64 Question Id : 6863403297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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r

SRIGd BY & il 1, 1 U U fasedl & 9 9a9 ugdd 3R &1 99+ SIful:

. PYTI AR PYI IS G &

2. BYT 1 AR BYT I ST ST §
3. PYTI 9T €. AfpT B 1 3T ©

4 PYTI AT . AfPIPYI I II S

Options :

68634013053. 1
68634013054. 2
68634013055. 3
68634013056. 4

Question Number : 65 Question Id : 6863403298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is/are not true in the case of conductors:

A. E = () inside a conductor.

B. p=0 inside a conductor

C. Any net charge resides on the surface.

D. E 1s parallel to the surface, just outside the conductor.
E. Potential may vary at different points on the conductor.

Choose the correct answer from the options given below:

1. A.B.D only

[ )

.B.E.D only
3.D & E only
4. A . C.D only

Options :

68634013057. 1
68634013058. 2
68634013059. 3
68634013060. 4

Question Number : 65 Question Id : 6863403298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Frafafad & 9 oH w1 9! & fau ga T8l & 2
A, 9I10® & 3 E = ()
B. II8® & 3¥ p=0
C. 71T SHTAY TIE & IR A FRAI ¢ |

D. 1A% & UHeH d1ed E Ide & IR elar g |
E. 9109 & IR i fgei R fayg ¥ uRad1 T aoar g |

e fau e fam el & 9 Tel SR &1 90 Difed
1. $Ad A, B.D
2. ®%dd B.E.D
3. HdAD&E
4. BATA.C,D

Options :

68634013057. 1
68634013058. 2
68634013059. 3
68634013060. 4

Question Number : 66 Question Id : 6863403299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Poisson's equation L V° V=0
Fen % n
B. [Laplace equation In|v-l= - &
o
_ P
C. |Continuity equation m |V-E = {;_
i
. o ,{J
D. |Gauss law v |V-V=——
&y

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| )

. A-IIL B-1, C-III. D-IV
3. A-IIT, B-11. C-1. D-IV
4, A-IV, B-1, C-11, D-III

Options :



68634013061. 1
68634013062. 2
68634013063. 3
68634013064. 4

Question Number : 66 Question Id : 6863403299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 Yl 1 ¥ fieH sifore
il FE o
A [@rE UigeH HE L W3V =0
B. [eTeEmg i@ I |vV-i= —%
: o P
C. [gide gl m. |[V-E= -
" o ;J
D. 3y @1 fFag IV, V'V——;
1)
fafead faeedl © 9 9ot Itk &1 99 Bl :

1. A-I. B-1I, C-III. D-IV

| )

. A-IL B-LL C-IIIL. D-IV
3. A-II1. B-11, C-1. D-IV
4. A-TV. B-1. C-I1. D-III

Options :

68634013061. 1

68634013062. 2

68634013063. 3
68634013064. 4

Question Number : 67 Question Id : 6863403300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The register that holds the address of next mstruction which 1s to be executed. 1s:
1. Stack pointer
2. Program counter
3. PSW

4. Instruction register

Options :
68634013065. 1



68634013066. 2
68634013067. 3
68634013068. 4

Question Number : 67 Question Id : 6863403300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg Yoree. forad e & forw spre RS 1 uar gidr g o deandi o -

1. %P Jbdd
2. TSR T (UI9TH HI3eR)
3. PSW
4. T IoReR

Options :

68634013065. 1

68634013066. 2

68634013067. 3
68634013068. 4

Question Number : 68 Question Id : 6863403301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

LDAX B 1s an example of:

1. Register addressing mode

(B

. Indirect addressing mode

L¥ 5]

. Direct addressing mode

e

. Implicit addressing mode

Options :

68634013069. 1
68634013070. 2
68634013071. 3
68634013072. 4

Question Number : 68 Question Id : 6863403301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



LDAX B 9% Us 3gei0e 2
1. ISR Udl- YUITd! (H19)

. Ucd& Odl- WOIal!

| )

. U Udl- HUTTEl

L
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Options :

68634013069. 1
68634013070. 2
68634013071. 3
68634013072. 4

Question Number : 69 Question Id : 6863403302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Machine language is said to be low-level language if:

1. It 1s machine dependent or specific to a computer

(3=

. It 15 machine independent or independent of a given computer.

L¥ 5]

. It 15 not understandable by human beings.
4. Programs written in this language are transferable to other machine.
Options :
68634013073. 1
68634013074. 2

68634013075. 3
68634013076. 4

Question Number : 69 Question Id : 6863403302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR 1T, 9 R YT HEard ¢ 3ie
TR TR R MR P T TS FHR & g oy g
T8 H R 4R e el € 71 faU T SHger W R e et
g8 HIS B IHI ol 3Tl
59 TS H fore g Tt @1 gad) g F RIR €l gddar g

—

| )

L]

=

Options :



68634013073. 1
68634013074. 2
68634013075. 3
68634013076. 4

Question Number : 70 Question Id : 6863403303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

EEPROM stands for:

1. Electrically Erasable programmable ROM's

(B

. Erasable programmable ROM's
3. Electronically Erasable programmable ROM's
4. Erase Error programmable ROM's

Options :

68634013077. 1

68634013078. 2

68634013079. 3
68634013080. 4

Question Number : 70 Question Id : 6863403303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EEPROM &9 & el WamT a1 g 2

 goide Iddl | Ueolad WU ROM's

oy

| )

TSl UIITHEA ROM's

[#5]

ool Ueiad HAHead ROM's

TS URR UIUTHEA ROM's

=

Options :

68634013077. 1
68634013078. 2
68634013079. 3
68634013080. 4

Question Number : 71 Question Id : 6863403304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Program counter and the stack pointer are:

1. Control Units

2

. 16-bit registers

LFS]

. Address and Data Bus

=y

. Flip-Flops

Options :

68634013081. 1
68634013082. 2
68634013083. 3
68634013084. 4

Question Number : 71 Question Id : 6863403304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHSY TUE (WM Hde?) 3R EH 9HdP o
o seTRal (deid gfe)
. 16-fere Tforexdfem)
g1 AR ST
4. fRAY-WAly
Options :
68634013081. 1
68634013082. 2

68634013083. 3
68634013084. 4

fa—y

| ]

[FN]

Question Number : 72 Question Id : 6863403305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain memory has a capacity of 4 KX 8. How many input and output lines does it has?

-y

. Eight input lines and Eight output lines

2

. Thirty-two input lines and thirty-two output lines

5]

. Four input lines and four output lines
4, 4096 mput lines and 4096 output lines

Options :
68634013085. 1



68634013086. 2
68634013087. 3
68634013088. 4

Question Number : 72 Question Id : 6863403305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U (fda Wi @OR) 3T emdr 4 KX 8 | 3991 fda-1 e o ffd g gi 2
1. 313 a2 wmg 3R 3418 F7id g
FUI (32) oW @gA 3R &g (32) Rrfa aga
IR a9 Arg 3R =R id g
- 4096 a9 @A 3R 4096 fAtid @A

[ ]

L]

e

Options :

68634013085. 1
68634013086. 2
68634013087. 3
68634013088. 4

Question Number : 73 Question Id : 6863403306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statement with reference to Data Bus:
1. Bidirectional lines that carry data between CPU and memory
2. Unidirectional lines that carry data between CPU to memory
3. Unidirectional lines that carry data between memory to CPU
4. Bidirectional lines that carry data between memory and I/O devices
Options :
68634013089. 1
68634013090. 2

68634013091. 3
68634013092. 4

Question Number : 73 Question Id : 6863403306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sl o & Had § el pUT 4 -
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Options :

68634013089. 1
68634013090. 2
68634013091. 3
68634013092. 4

Question Number : 74 Question Id : 6863403307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A) : The number of memory cycles required to execute LDA 4000H mstruction in 8085
microprocessor is 4.

Reason (R) : Memory cycle defines number of times accessing the memory.

In the light of the above statements. choose the correct answer from the options given below:

[y

. Both (A) and (R) are true and (R) is the correct explanation of (A)

2

. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

[F5]

. (A) 1s true but (R) is false

=

. (A) 15 false but (R) is true

Options :

68634013093. 1
68634013094. 2
68634013095. 3
68634013096. 4

Question Number : 74 Question Id : 6863403307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634013093. 1
68634013094. 2
68634013095. 3
68634013096. 4

Question Number : 75 Question Id : 6863403308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following 8085 hardware interrupts in increasing order of priority.

A TRAP
B.RS5T 6.5
C.RST 7.5
D.INTR
E.RST 5.5

Choose the correct answer from the options given below:

1.A,€.B.ED
2.C.B,E.A,D
3.6 BB DA
4 D.E.B.C.A

Options :

68634013097. 1

68634013098. 2

68634013099. 3
68634013100. 4



Question Number : 75 Question Id : 6863403308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=14 f3U U 8085 SIS AR TR &I SRIAT (WUEEHN) & RiE! HH & ayafyd $Hife -

A TRAP
B.RST 6.5
C.RST 7.5
D.INTR
E.RST 5.5

- fau 7T famedl © 9§ T8l 3R &1 99 Bifod

LLAC B ED

| ]

C,B,E.A. D
3.CCB.EDA
4.D.E.B.C.A

Options :

68634013097. 1
68634013098. 2
68634013099. 3
68634013100. 4

Question Number : 76 Question Id : 6863403309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct sequence of operation of microprocessor is:

A. Memory read

B. /O read

C. Opcode fetch

D. I/O write

E. Memory write

Choose the correct answer from the options given below:

LA E-B D &

| )

.C.A,E.B.D
3.C,B,D.AE
4.B.D.AE.C

Options :

68634013101. 1

68634013102. 2
68634013103. 3



68634013104. 4

Question Number : 76 Question Id : 6863403309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSR & W PI SEd HHE :
A TERT (F0) T8 (@e)

B. /0 ¥S (U
C. ATHIE T

= fau U f[daredl § O 981 3Tk &1 944 Dilor -

LAEBDC

b2

CLAE B, D
3.C.B.D.A.E
4. B. DA EC

Options :

68634013101. 1
68634013102. 2
68634013103. 3
68634013104. 4

Question Number : 77 Question Id : 6863403310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : 8085 microprocessor has 16-bit of address lines and 8-bit of data lines.

Statement IT : None of the flags will be affected after the execution of INX H instruction. In the light of the
above statements, choose the most appropriate answer from the options given below:

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I is false

4. Statement I 15 false but Statement II 1s true

Options :
68634013105. 1
68634013106. 2



68634013107. 3
68634013108. 4

Question Number : 77 Question Id : 6863403310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT : 8085 HIBH YR I, 16-f9¢ &1 ToY (g a3 3R s-fac @l Srerag-gdi @ |
FYFI1: INX H 39 & Fsare9 & a1g, &l vl win waifad sgi giai g |

SWRIad HY & 31l H, {2 AU 71U fasedl § 3 968 Sugad 3R &l 99 DI

L. P AR PUT IS I T

2. HYF 1 AR PYT I ST 3 ©
3. PYTL 9T 6. AfbT BT 11 3T ©

4. PYT] A . APTIPYT I T ©

Options :

68634013105. 1
68634013106. 2
68634013107. 3
68634013108. 4

Question Number : 78 Question Id : 6863403311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is/are hardware interrupts:

A RSTA45
B.R5T7
C.RSTG6
D.INTR
E.RST S5

Choose the correct answer from the options given below:
1. B and C only
2.B. C and E only
3. Aand D only
4. A only
Options :

68634013109. 1
68634013110. 2



68634013111. 3
68634013112. 4

Question Number : 78 Question Id : 6863403311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FaftfRa T Ao T sedm iR 6 2

A RST4.5
B.BRST7
C.R5T6
D.INTR
E.RSTS5

e fau e famedt & 9 Hel SR &1 90 Difed
1. Had B R C
2.%adB.CHR E
3.%ad ASIR D
4. PId A

Options :

68634013109. 1
68634013110. 2
68634013111.3
68634013112. 4

Question Number : 79 Question Id : 6863403312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

1ISTI LISTII
A EOWM (Read Write I Stored data will not permanently
" lmemory) " stored
B D}-‘t_mmic memory 1 LA memory that can be read or
" |device " pwritten with equal ease

Once electric power 1s switch off,
C_ |Static memory deviee  |1I1JAll Stored information in
memory will be lost

S . - I5tored data will r i
D. [Volatile memory device [TV |7 o -0 Gata Wit remain
> permanently stored

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

. A-IIL B-IIILL, C-1. D-IV
3. A-L. B-II. C-IV, D-III
4. A-IIT, B-IV. C-1. D-II

Options :

68634013113. 1
68634013114.2
68634013115. 3
68634013116. 4

Question Number : 79 Question Id : 6863403312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 | Tt 11 |
A RWM (SRS #A1) L :@i-m% STET I 0 3 WG
B. [rfad 8 gfad IL. m@ﬁ%%mmﬁﬁﬁ
ﬂ 1 Fagd 41 ¢ &l 5l &
C. [Sfde FHRI gl L. ﬁﬂjﬁ%ﬁﬂu%n wl g<w
g
. aiareTz o (armgeie) JHR] i Cufed ST gHT ®IE EU Y
g B SR
Fafafad fdemed & T 981 SR &1 994 iy ;

1. A-II. B-I. C-IV, D-III
2. AL B-III, C-1. D-IV
3. A-L B-II, C-IV, D-III
4. A-III. B-IV. C-1. D-II

Options :

68634013113. 1
68634013114. 2
68634013115. 3
68634013116. 4

Question Number : 80 Question Id : 6863403313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scanning tunneling microscopy (STM) is based on the quantum mechanical tunneling. The probability of
tunneling of an electron across a gap L is proportional to:

L
e

l.e_l‘

Options :

68634013117. 1
68634013118.2
68634013119. 3
68634013120. 4



Question Number : 80 Question Id : 6863403313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B0 G- YEHGAT (STM) . HicH TS I ARG 8 | U6 sadeE & G0 o1 T,
0% faeR L& SRR feg vaR Rk axdi g 2

L
e

2 e_L

Options :

68634013117. 1
68634013118.2
68634013119. 3
68634013120. 4

Question Number : 81 Question Id : 6863403314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Single electron transistor works on:

1. Coulumb's blockade effect

| B

. Kondo effect
3. Handau's effect
4, Kastner effect

Options :

68634013121. 1
68634013122. 2
68634013123. 3
68634013124. 4

Question Number : 81 Question Id : 6863403314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U5 d SaacH gifores [ IR &1 ST 6 2

1. Pl ([hs) SH YU
A RG]
BT UHTd

4, PR UHIG

| )

L

Options :

68634013121. 1
68634013122. 2
68634013123. 3
68634013124. 4

Question Number : 82 Question Id : 6863403315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The lithography that offers highest resolution patterning 1s

1. UV lithography

| )

. Lon beam lithography

Lad

. X-ray lithography
4. Electron beam lithography

Options :

68634013125. 1
68634013126. 2
68634013127. 3
68634013128. 4

Question Number : 82 Question Id : 6863403315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3129 (ferdhy o1 it S=gaw Ao e s FRaI g a8 | -

1. UV 3/RH g0l

| )

. 1T fepvor g 3=m ggu
3. X-fd2ur 3=H ggur
4. goaCH fpvor Uo 3=0 5o

Options :



68634013125. 1
68634013126. 2
68634013127. 3
68634013128. 4

Question Number : 83 Question Id : 6863403316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Nano-identation 1s used for the analysis of:

1. Thermal Properties of nanomaterials

[

. Optical Properties of nanomaterials
3. Magnetic Properties of nanomaterials
4. Mechanical Properties of nanomaterials
Options :
68634013129. 1
68634013130. 2

68634013131.3
68634013132. 4

Question Number : 83 Question Id : 6863403316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 3TgSeN fovg & fa=meryur & forg warT gidn & 2
1. =1 gagdf ot ardiy fagvard @qoi-ed)
1 Terdf @ HeeTRitg faRivany
AT gl Bt g [GRvan
A el ot gifae faSvary

| )

[#%]

=

Options :

68634013129. 1
68634013130.2
68634013131. 3
68634013132. 4

Question Number : 84 Question Id : 6863403317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following nano scale synthesis process does not lie in the category of bottom-up approach?

1. Physical vapour deposition

| B

. Plasma enhaced CVD

LF¥]

. High pressure torsion
4. Chemical self assembly

Options :

68634013133. 1

68634013134.2

68634013135.3
68634013136. 4

Question Number : 84 Question Id : 6863403317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FaAfeEad o O o1 91 - SRV Wb, Tell Sfekdd SUnTH &1 4ufl T g o 2
1. Wi ars e
. TATSH 6% (CVD)
. 3= g« fadie (Ua)

4, IGAHAF WG G ad

| ]

L

Options :

68634013133. 1
68634013134. 2
68634013135.3
68634013136. 4

Question Number : 85 Question Id : 6863403318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In the ballistic regime of heat transport. the heat flux is proportional to:
1. Square of temperature
2. First power of temperature
3. Third power of temperature

4. fourth power of temperature

Options :
68634013137. 1



68634013138. 2
68634013139.3
68634013140. 4

Question Number : 85 Question Id : 6863403318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 ST IR0 &1 Wéte e (gawn 8, IHfgud Ak sars .

1. 99 & a4 01

. dT9HH &1 WYH o1d
. dT9H 61 g ord
AT9qH B I e

[ ]

L]

=Y

Options :

68634013137. 1
68634013138. 2
68634013139. 3
68634013140. 4

Question Number : 86 Question Id : 6863403319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Grant magnetic resistance phenomenons refers to:

1. Decrease in electrical resistance when materials are exposed to magnetic field.
2. Increase in electrical resistance when materials are exposed to magnetic field.
3. Increase in thermal resistance when materials are exposed to magnetic field.
4. Decrease in thermal resistance when materials are exposed to magnetic field.

Options :

68634013141. 1

68634013142.2

68634013143.3
68634013144. 4

Question Number : 86 Question Id : 6863403319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ged Fra@ g uioRiy aRee g & Fefd g o
1. T e & i & Y SFTaRe T S & d S fage vkl B e € @
2. TS YT P T A @ ST e ST & 6 9 g wReR A 9 B
3. 919 TSIl 1 JrEa &7 ¥ oFTaRd fbar S @ df 5o andi wiekiy H gfE Sl & |
4. 519 UETYl B TEHIT &7 W SFENR 9501 S1a1 ¢ @ 37 ardig uioriy ¥ il g1l § |

Options :

68634013141. 1
68634013142.2
68634013143. 3
68634013144. 4

Question Number : 87 Question Id : 6863403320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A) : Photonic erystals allow or disallow the propagation of certain wavelengths depending upon
their photonic band gaps.

Reason (R) : Photonic crystals are composed of periodic dielectric, matallodiclectric or even superconductor
nanostructures that affect the electron magnetic wave propagation in the same way that the periodic potential
in semiconductors affects the propagation of electrons.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct
4. (A) 15 not correct but (R) 1s correct

Options :

68634013145. 1

68634013146. 2

68634013147.3
68634013148. 4

Question Number : 87 Question Id : 6863403320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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BRI (R) : BlcH! e, Sfadl IRIdegd. YIq IRIdedd 1 S(faarae® -+ S¥=-1 & &4 §1d §. ol [9g4q
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Options :

68634013145. 1
68634013146. 2
68634013147. 3
68634013148. 4

Question Number : 88 Question Id : 6863403321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct sequence of steps of chemical Vapour Deposition (CVD) process in:

A. Heterogeneous surface reaction catalayzed by the surface.
B. Nucleation and growth of the film.

C. Adsorption of the species on the surface.

D. Transport of reacting gaseous species to the surface

E. Surface diffusion of the species to the growth sites.

Choose the correct answer from the options given below:
1L.BDEATF.RB
2.A,C,D,E.B
3.B.A, DB, C

4. C.ADE.B

Options :

68634013149. 1
68634013150. 2
68634013151.3
68634013152. 4



Question Number : 88 Question Id : 6863403321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IS 9 AT U H S SRa s g 2

A. a8 gRI Ioiid fauaitt sty sifufear

B. A& 3R fihed &1 fawrg

C. Ude YR Uollidal &1 Sffe=iyuy

D. Afifrar wite Hfim yenfadl &1 9ds 9 ulag
E. YRIadl &1 [dHr el R Ide! [a9u

4 fau 7T famedl © 9§ T8l 3R &1 99 Bifod

1.BC.AEB

2.A.C.DEB
3B_A.D,E.C
4. C.A.D.E.B

Options :

68634013149. 1
68634013150. 2
68634013151. 3
68634013152. 4

Question Number : 89 Question Id : 6863403322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Spin value has a layered structure of thin films of magnetic materials which leads to the
variation of electrical resistance which change in the direction of applied magnetic field.

Statement IT : The electrical resistance of a spin device is highest when the free layer and the pinned layer
magnetization vectors are alligned and decreases when the free layer magnetization vectors rotates anti parallel
to the pinned layer magnetization vector.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II 1s correct

Options :
68634013153. 1



68634013154. 2
68634013155.3
68634013156. 4

Question Number : 89 Question Id : 6863403322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFagisyfRRume -
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HYA I1: U Y@l Jidd o1, faegq Wioriy ftead sidT & o/d Gad Ud iR 109 $1 715 IRd & @[
e FAEg B1d § 3iR 98 &4 81 5T § ofd Jod URd 91 Fiag], U1 &1 718, WRd & 9ed 1 Jiagl
& SRR 90 BRI § |

ORI BY & il 1, 9 fU U fasedi & 9 9a9 ugdd 3R &1 99+ SIfuT:
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Options :

68634013153. 1
68634013154.2
68634013155. 3
68634013156. 4

Question Number : 90 Question Id : 6863403323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The aspects of erystallites information which can be investigated being Scanning Electron Microscopy (SEM)
are:

A. Topography

B. Morphology

C. Composition

D. Crystallographic information
E. Mechanical properties

Choose the correct answer from the options given below:

1. A.B. C only

[ ]

.A.B.C.E only
3.A.B.C.Donly
4.B, C. E only

Options :

68634013157. 1

68634013158. 2

68634013159. 3
68634013160. 4

Question Number : 90 Question Id : 6863403323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fpecd &1 ga1 & FafcRad 4 3 ®1F 3 usll 31 oiid oy digul saaci- Jeresil & warT 3 gidl
A. RYTITpfd
B. 3 idfdz

C. e
D. ftediia gam
E. FitAd [g2Nany

e fau e fawedt & 3 Hel SR &1 90 Difed
1.9dd A, B.C
2.%dd A,B.C.E
3.@dd A.B.C.D
4.%dd B.C.E

Options :

68634013157. 1
68634013158.2
68634013159. 3
68634013160. 4



Question Number : 91 Question Id : 6863403324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A |[X-ray Diffraction I. |Band gap
B. |Atomic Force Microscopy IL Pa—
Troups
C. [UV-Visible Spectroscopy 1. |Crystal Structure
D. EDun&r - Traj_lstonn Infrared B Moty
Spectroscopy

Choose the correct answer from the options given below:
1. A-I. B-II. C-II1, D-IV
2. A-IIL B-IV. C-I1. D-1
3. A-IIT. B-IV. C-1. D-II
4. A-I11. B-1. C-II. D-IV

Options :

68634013161. 1
68634013162. 2
68634013163. 3
68634013164. 4

Question Number : 91 Question Id : 6863403324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o

gl 1 1 Yl 1 ¥ e Sifore

T I T 1T
A [x-Txur fagaH L [d3 sFR1d
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frafaad fdeddl & I 98 IR &1 98- DI

1. A-I. B-II, C-III. D-IV

2. A-IIL B-IV. C-II. D-1

3. A-IIT. B-IV. C-1. D-II

4. A-III. B-1. C-II. D-IV



Options :

68634013161. 1
68634013162. 2
68634013163. 3
68634013164. 4

Question Number : 92 Question Id : 6863403325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Potentrometric sensor is a type of:

1. Physical sensor

2

. Chemical sensor

LFS]

. Neuromorphic sensor
4, Proximity sensor

Options :

68634013165. 1
68634013166. 2
68634013167. 3
68634013168. 4

Question Number : 92 Question Id : 6863403325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
favanTdiy daew [P PTURET € 2

1. Hifd® Tdg®

P Fdad

i3 P fid Jdad
4, g gdadh

Options :

68634013165. 1

68634013166. 2

68634013167. 3
68634013168. 4
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L

Question Number : 93 Question Id : 6863403326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In electrochemical cell. in which electron reaction occurs :

1. Counter electrode

| B

. Working electrode
3. Reference electrode
4. Auxiliary electrode

Options :

68634013169. 1
68634013170. 2
68634013171.3
68634013172. 4

Question Number : 93 Question Id : 6863403326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feqge Y Ia d sififsar 6y sadgis )R el o -

PR (V) TS

DRI TR

Options :

68634013169. 1
68634013170. 2
68634013171. 3
68634013172. 4
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Question Number : 94 Question Id : 6863403327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A device that converts one from of energy into another:

1. Decoder

(B

. Encoder
3. Transducer
4. Multiplexer

Options :
68634013173. 1



68634013174. 2
68634013175.3
68634013176. 4

Question Number : 94 Question Id : 6863403327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a% gfaa ol 3ol & Ud U DI g § daadl o -
1. Slle
TP

GRS
4, §gdbdD

Options :

68634013173. 1
68634013174. 2
68634013175. 3
68634013176. 4
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Question Number : 95 Question Id : 6863403328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Magnetostructure materials are special type of actuator which:

1. Expand or shrink on the application of magnetic field
2. Change their temperature on the application of magnetic field
3. Change their erystal structure on the application of magnetic field
4, Change their colour on the application of magnetic ficld

Options :

68634013177. 1

68634013178. 2

68634013179. 3
68634013180. 4

Question Number : 95 Question Id : 6863403328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634013177. 1
68634013178. 2
68634013179. 3
68634013180. 4

Question Number : 96 Question Id : 6863403329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In sensor terminology 'sensitivity' is defined as:
1. Ratio of change in input signal to the change in output signal.
2. Ratio of change in output signal to the change in input signal.
3. Product of change in input signal and change in output signal.
4. Sum of change in input signal and change in output signal.
Options :
68634013181. 1
68634013182. 2

68634013183.3
68634013184. 4

Question Number : 96 Question Id : 6863403329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634013181. 1
68634013182. 2
68634013183.3
68634013184. 4

Question Number : 97 Question Id : 6863403330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The measures of sensor's ability to produce an output indicative of changes in input parameters independent of
increase or decrease of mput is called:

[

. Repeatability

| )

. Selectivity
3. Hysteresis
4. Sensitivity

Options :

68634013185. 1
68634013186. 2
68634013187. 3
68634013188. 4

Question Number : 97 Question Id : 6863403330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634013185. 1

68634013186. 2

68634013187.3
68634013188. 4

| )
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Question Number : 98 Question Id : 6863403331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the typical steps of surface Micro machining in order:

A. Deposition of a structured layer

B. Deposition of a sacrificed layer

C. Substrate preparation

D. Shape definition by patterning and etching of the structured layer followed by release of suspended
structure.

E. Creation of a hole by patterning and etching of the sacrificed layer.

Choose the correct answer from the options given below:
1.C.D.A B, E
2.C,B.E.AD
3.C,A.B.E.D

4 A B.E.C,D

Options :

68634013189. 1
68634013190. 2
68634013191.3
68634013192. 4

Question Number : 98 Question Id : 6863403331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2.C.B.EAD
3.C,A.B.E.D
4. AB.ECD

Options :

68634013189. 1
68634013190. 2
68634013191. 3
68634013192. 4



Question Number : 99 Question Id : 6863403332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following not chemical sensor.

A. Chemiresistor

B. Non disperssive infra red sensor
C. Hall probe sensor

D. Hygrometer

E. Holographic sensor

Choose the correct answer from the options given below:

1. A C.E only

| )

.A.B. Conly
3.Cand D only
4. C, E only
Options :
68634013193. 1
68634013194. 2

68634013195.3
68634013196. 4

Question Number : 99 Question Id : 6863403332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634013193. 1



68634013194. 2
68634013195.3
68634013196. 4

Question Number : 100 Question Id : 6863403333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A |kt I Ratm of change 1n output to change in
g input.
B. |[Sensitivity II. |Ability to maintain performance over time.
¢ |zero 1L Z\J'Ia'_rhemancal steps applied to mput
variable for desired output.
D. [Stability IV, PVlinimum value of output signal.

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV, D-ITI
2. A-L B-II. C-IV. D-III
3. A-L. B-I11. C-II. D-IV
4. A-III B-1. C-IV. D-II

Options :

68634013197. 1

68634013198. 2

68634013199. 3
68634013200. 4

Question Number : 100 Question Id : 6863403333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II. B-1. C-IV. D-III
2. A-L B-II. C-IV, D-III
3. A-I. B-TII. C-II. D-IV
4, A-IIL. B-I. C-IV, D-II

Options :

68634013197. 1

68634013198. 2

68634013199. 3
68634013200. 4



